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Mathematics Answer Key

(Question 1] ~5.6 s | [(Questions] x= %6 ,  y= %6 5
mark mark
{Question 2) :ZaT-FZ_lz 5| [Question 6] 2,6 5
mark mark
(Question 3] :_2._[21_6. 5| (Question 7] S 5
3 mark 36 mark
(Question 4] -1 s | [(Question 8] D 5
mark mark
(Question 1] a=2 b=0 3
mark
(Question 2] -3' 7
mark
(Question 3]
BC=t—-(-t)=2t
Since y-coordinate of point D is t2,
CD=t*-0=1t?
Since quadrilateral ABCD is a square, BC =CD
Thus, 2t = t?
t=02
Since t >0, t=2
Coordinates of point A is (-2, 4)
Thus the slope of line OA is % = -2
Therefore, line n is a line with a slope of —2
The area of quadrilateral ABCD is 4 x 4 = 16
Thus, the area of quadriateral ABFE is 16 X s_i%' =10
As quadrilateral ABFE is a trapezium, - x (AE + BF) X AB = 10
AB=4,thus AE+BF =5 -+« @
As the slope of line n is -2, AEA_BBF =2
AsAB=4, AE-BF=-2 -+ @
From @ and @, BF=—Z—
Thus the coordinates of point F is (g, 0)
As line n is a line with slope of —2 and passes through point F, g
The equation of line n can be expressedas y = —2x+ b mark
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0= 2x3+b
- 2

b=3

Thus, the equation of linenis y = ~2x + 3

Answer: y = —2x + 3
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[{Question 1] ( 90 — g )°

mark

(Question2] (1)

Since triangle ACP is produced by folding triangle ACB,

AP=AB, angle APC =angle ABC

As the length of corresponding sides and angles are equal in parallelogram,
AB=CD, angle ADC =angle ABC (Properties of parallelogram)

Thus, AP=CD + + - @©

angle APC =angle ADC, thus angle APQ =angleCDQ " + + @
£AQP=2CQD (vertically opposite angles)

As two pairs of internal angles are equal for triangle AQP and triangle CQD,
angle PAQ=angle DCQ * *+ + @

From D, @ and @, as one pair of sides and the angles on both sides are equal,
AAQP=ACQD

mark

[Question 2] 24

(2) 5 o

mark

(Question 1) 241 cm?

mark

(Question 2)

wi~

cm

mark

(Question 3]
Triangle AEB is a right-angle triangle with angle AEB=90°and AB: AE=2:1.
Thus, using Pythagorean theorem, BE = 3v3 (cm)

Area of triangle AEB = 3 x 3v/3 x % = 2—2@ (cm?)

Construct perpendicular lines from points C and P to line segment AB and let the
intersection of lines be F and G respectively.

For triangle AFC, using Pythagorean Theorem,

CF=v87—-27 = 2V/15

For triangle BCF, using Pythagorean Theorem,

BC = /(2\/‘13)2 +42 =+/76

Let CP= x (cm), thus AP= 8 — x (cm)

For tl'iarigle BCP, using Pythagorean Theorem,
BP? = (V76)% — x? = 76 — x?

For triangle ABP, using Pythagorean Theorem,
BP? = 62— (8 —x)? = —28 + 16x — x?

mark
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Therefore, 76 — x? = —28 + 16x — x?

Thus, CP= x = 123 {cm)

Using the ratio of the length of line segments in parallel, AP : AC =PG : CF
Since AP= 2(cm), 2: 8 = PG : 2V15

Thus, PG = 2%__1‘5‘ (cm)

Therefore, the volume of the solid P-AEB is

278 N
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